
15.70. Model: Water is almost incompressible and it applies a volume stress.
Solve: (a) The pressure at a depth of 5000 m in the ocean is
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(b) Using the bulk modulus of water,
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(c) The volume of a mass of water decreases from V to 0.975V. Thus the water’s density increases from ρ to
ρ/0.975. The new density is
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(d) More, because the mass of sea water is slightly more than if the water was not compressible. So, the actual
pressure at a depth of 5000 m is slightly more than what was computed in part (a).


